M. 55 et 75
1. [E RAERHELR R

(1) 7wk A (A EV 1 3
(A T, %)

X 4 ?5&36@&“%%}]%% M?ﬁEkaSEFE%%)J%% 4 $i
T A OB | WAk | v OB R | MRk | B [ R
5 FE RO B & B OBl 3,121,920 23.9| 3,167,610 249 A 45,690 A 1.4
108 H B & O F BB 30 0.0 10 0.0 20 200.0
15 B X W 4| 2,654,630 20.4| 2,694,500 21.1| A 39,8700 A15
200 & A B FE XA & 464,140 3.6 511,060 4.0l A 46,920 A 9.2
23 /7 W & M EH AR T 4| 2,803,620 21.5| 2,594,070 20.4 209,550 8.1
25 U X tH 4> 721,130 5.5 701,330 5.5 19,800 2.8
304 W H % &L fF 4| 1,081,400 8.3| 1,185,350 9.3 A 103,950 A 8.8
35 it PE I A 10 0.0 10 0.0 — —
40 4 A 4| 2,162,560 16.6| 1,871,700 14.7 290,860 15.5
45 & el & 5,000 0.0 5,000 0.0 — —
50 7t I A 23,660 0.2 14,360 0.1 9,300 64.8
o 7t 13,038,100 100.0 12,745,000 100.0 293,100 2.3
(2) 7wk H (A EV x93
(A T, %)

% sy R 264 B W) TR | SRR 25 M) TR 54 i
T OB OB | MERRME | T OB OBE | MERKEE | B DR A | HEECRE
2y % # 253,320 1.9 310,590 2.4 A 57,270 A 18.4
10k Bk | 8,670,000 66.5| 8,321,300 65.3 348,700 4.2
11 % W & e & X% & % 1,859,800 14.3] 1,890,070 14.8] A 30,270 A 1.6
12 /7 #] & s & WA & F 2,150 0.0 1,260 0.0 890 70.6
15 N & i & 80 0.0 80 0.0 — —
7 #E M & 780,320 6.0 792,970 6.2] A 12,650 A 1.6
20 & R O# ¥ L M 4| 1,303,530 10.0| 1,270,360 10.0 33,170 2.6
26 . H=H X 141,730 1.1 131,200 1.0 10,530 8.0
30 & M O & 60 0.0 60 0.0 — —
35 /A & # 10 0.0 10 0.0 — —
40 7% X tH 4> 17,100 0.1 17,100 0.1 — —
45 ¥ fisi # 10,000 0.1 10,000 0.1 — —
o 3 13,038,100 100.0[ 12,745,000 100.0 293,100 2.3
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2. NITAKEFE
(1) &% A (A B 1E 380
(AL T, %)
% N iﬁigﬁ%f” %%}J?S@t ¥5235EI“ %%}J?%’i g ii
T A OB | WAL | T OB KR | MERkEE | DR AR [ HEECE
T £ S A O = W S A 170 0.0 830 0.0 A 660[ A 79.5
108 A B & Y F B OBH 2,065,590 28.3| 2,000,450 17.6 65,140 3.3
15 B X W 4| 2,501,880 34.3| 6,132,660 54.1| A 3,630,780| A 59.2
23 [F PE I A — — 70 0.0 ATO| R
25 & A 4 2,063,570 28.3| 2,319,340 20.5| A 255,770 A 11.0
30 it ik 4 5,000 0.1 5,000 0.0 — —
35 & I A 90 0.0 150 0.0 A 60[ A 40.0
40 T & 662,500 9.1 882,700 7.8 A 220,200 A 24.9
7 i 7,298,800 100.0{ 11,341,200 100.0{ A 4,042,400 A 35.6
(2) % H (A FDIE W)
(HAL T, %)
% sy R 264 B W) TR | SRR 25 M) TR 54 i
T OB OB | MERRIE | T OB OBE | MERKEE | B DR A | HEEeRE
5 % o #| 2,084,730 28.6| 1,826,060 16.1 258,670 14.2
I0F K E F OEX B 529,810 7.3 350,840 3.1 178,970 51.0
13% #F #H B | 3,641,460 49.9| 8,007,080 70.6| A 4,365,620] A 54.5
15 A & #| 1,041,800 14.3| 1,156,220 10.2] A 114,420 A 9.9
20 T fisi # 1,000 0.0 1,000 0.0 — —
o at 7,298,800 100.0[ 11,341,200 100.0{ A 4,042,400 A 35.6
3. FEH/ANE
(1) % A (A EDE )
(HA. M. %)
X 4 ﬂﬁﬁiﬁ%fﬁ%%ﬂ%ﬁ ﬂ?ﬁiﬁ&fﬁ%%}ﬁ% 4 $i
T B OB | WAk | v OB OB | MRk | 0 [ R
54 M B & OV F 163,680 32.1 161,010 31.5 2,670 1.7
7 P I A 790 0.2 1,160 0.2 A 370 A 31.9
10 f A & 345,980 67.7 60,590 11.9 285,390 471.0
15 f ik & 100 0.0 100 0.0 — —
20 & I A 150 0.0 140 0.0 10 7.1
o At 510,700 100.0 223,000 43.7 287,700 129.0
(2) W% H (A BV T )
(AL T %)
% N WRL26FEEE M W) TR | A2 W) TR |54 L%
TR OB | WAL | T B OBE | AERKEL | MY B0 BR[| AR
5 & % # 113,280 22.2 89,400 40.1 23,880 26.7
10 3£ #1 A 5 ¥ B 396,420 77.6 132,600 59.5 263,820 199.0
20 T fi # 1,000 0.2 1,000 0.4 — —
7 7 510,700 100.0 223,000 100.0 287,700 129.0
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4. IrERER (RIS TE)

(1) % A (A EDIE )
(HAr T, %)

% N ¥&36$f§%%ﬂ?*ﬁ %&35@&?%1%}]?% t\l:\ $§
T A B | MRk | T R B | MRkEb [ 0 BH | HEIECE
55 # R B B 1,307,660 22.6| 1,236,810 22.7 70,850 5.7
15 B X W 4| 1,059,350 18.3 992,830 18.2 66,520 6.7
20 W& 53 tH 4 811,520 14.0 774,710 14.2 36,810 4.8
25 3 A X & & & 1,579,190 27.3| 1,492,310 27.4 86,880 5.8
27 PE I A 530 0.0 550 0.0 A 20 A 3.6
30 it A 4| 1,018,160 17.6 949,010 17.4 69,150 7.3
35 it ik 4 1,000 0.0 1,000 0.0 — —
45 I A 90 0.0 80 0.0 10 12.5
7 g 5,777,500 100.0| 5,447,300 100.0] 330,200 6.1
(2) % H (A EDE )
(HHr TH, %)

% 4 WRL26MFEFEMS W) TR | A2 W) TR ke 2
T OE ORA | WAL | T B BE | AERKEL | B§ DR AE | IR
5 f& % # 210,100 3.6 192,610 3.5 17,490 9.1
0% BB &  f #| 5,395220 93.4| 5,097,750 93.6 297,470 5.8
20 1 Wk OB F ¥ B 160,720 2.8 145,660 2.7 15,060 10.3
25 & MH I & 4,460 0.1 4,280 0.1 180 4.2
35 & 53 H & 2,000 0.0 2,000 0.0 — —
40 T fii # 5,000 0.1 5,000 0.1 — —
7 g 5,777,500 100.0| 5,447,300 100.0] 330,200 6.1
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5. SEEIRIR (ST — B A5 26 E)

(1) % A (A BT )
(HAr T %)

X 4 ?@ﬁﬁﬁ%@%ﬁ ﬁ@@%ﬁ%@%ﬁ It &

T A R | MAUE | T B OB | MEAUE | M BR[| EeE
5% — v % I A 715,400 58.0 714,030 60.9 1,370 0.2
10 f A 4> 515,380 41.8 456,350 38.9 59,030 12.9
15 # el & 500 0.0 500 0.0 — —
20 # I A 1,720 0.1 1,720 0.1 — —
= g 1,233,000 100.0| 1,172,600 100.0 60,400 5.2
(2) % t (A BT
(AT T, %)

% N R 26 W) TR | SR 25 Y M) TR L i

T OB OB | MAUE | T R B | MERE | B O B | HEeER
5 R % # 94,500 7.7 49,490 4.2 45,010 90.9
10 = ¥ # 904,870 73.4 889,480 75.9 15,390 1.7
15 22 & # 232,630 18.9 232,630 19.8 — —
20 T fisi # 1,000 0.1 1,000 0.1 — —
= Gl 1,233,000 100.0| 1,172,600 100.0 60,400 5.2

6. %I = R

(1) % A (A BT )
(A T %)

X 4 ?@ﬁﬁﬁ%@%ﬁ ﬁ@@%ﬁ%@%ﬁ It &

T A R | MAUE | T B OB | MEAUE | M 0 BR[| HEeE
5 % Wl & A E R DR BB 851,270 84.1 789,530 84.7 61,740 7.8
108 H B & O F & B 10 0.0 10 0.0 — —
15 f& A 4> 153,980 15.2 135,120 14.5 18,860 14.0
20 # el & 3,000 0.3 3,000 0.3 — —
25 7 I A 4,340 0.4 4,840 0.5 A 5001 A 10.3
= g 1,012,600 100.0 932,500 100.0 80,100 8.6
(2) % t (A BT )
(A T %)

% N R 26 W) TR | SR 25 Y P TR L i

T OB OB | MAUE | T R B | MERE | ¥ O B | HEEeE
5 R % # 63,350 6.3 51,850 5.6 11,500 22.2
10 % 31 5 i 5 0 LS e A A+ 4 945,750 93.4 876,650 94.0 69,100 7.9
15 # X i 4 2,500 0.2 3,000 0.3 A 5001 A 16.7
20 T fisi # 1,000 0.1 1,000 0.1 — —
= Gl 1,012,600 100.0 932,500 100.0 80,100 8.6
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